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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
1,
1) 956 2) 859 3) 45 4 770
- 696 - 61 - 6 - 60 2
3,
4.
5 8.938 6 2.984 7 33 8 9.322 >
- 31 - 18 i —_4.685 5
7.
8.
9 99 10) 167 1) 725 12) 70 S.
- 90 - 40 -212 - 28
— — — 10.
11.
12.
13)  1.632 14) 5546 15 9.584 16) 6.602 s
. 824 . 54 - 4.796 i 8
- - - 14.
15.
16.
17) 251 18)  4.983 19 1.715 200 745 17
-9 - 342 - 1.261 -7
18.
19,
20.
110 | 95] 90] 85 80| 75] 70] 65] 60] 55 [ 50
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Subtraktion (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 260
1) 956 2 859 3) 45 4 770
- 696 - 61 - 6 - 60 ) 798
260 798 39 710
3, 39
4 710
5 8.938 6) 2.984 7 33 8 9.322 > 8.907
- 381 - 18 -7 -4.685 s 2.966
8.907 2.966 26 4.637
7. 26
8. 4.637
9 99 100 167 1) 725 12) 70 0, 9
- 90 - 40 - 212 -28 o 197
9 127 513 42
11, 513
12, 42
13) 1.632 14) 5.546 15) 9.584 16) 6.602 13, 808
- 824 - 54 - 4.796 - 8
308 5.492 4.788 6.594 4. 9492
15, 4.788
6 6.594
17) 251 18) 4.983 190 1.715 20) 745 - 242
-9 - 342 -1.261 -7
242 4.641 454 738 18, 4.641
19, 454
0. 738
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
798 127 42 4.637 260
2.966 710 9 26 513 1.
8.907 39
2.
1) 956 2) 859 3 45 3
- 696 - 61 . 6
S - 4.
5.
6.
7.
4 770 5 8.938 6) 2.984
- 60 - 31 - 18 8.
9.
10.
11.
N 33 8 9.322 9 99 »
- 7 -4.685 - 90
100 167 1) 725 12) 70
- 40 -212 - 28
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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